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2WREBEADPT CCREGHTCELVEER N2 EHL 2L RESTHET 5,

RO 2 RFBAAEE 5 S\, KD 2 RFBAEE 5 S\,

3x’+24x+36=0 x*+bx+4=-2
x*+8x+12=0 x*+5x+6=0
(x+6) (x+2)=0 (x+3)(x+2)=0
X=—-6,x=-2 x=-3,x=-2
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@D 4x*+16x—48=0 @ 3x*+9x—84=0

® x*+x-9=3 @ (x—4)*=1
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3x*+24x+36=0

2WREBEADPT CCRBGHTCELVEER NEZEHL 2L RESTHET 5,

KD 2 RFBAAEE 5 S\, KD 2 RFBAEE 5 S\,

xX*+bx+4=-2

X¥+8+12=0 X*+5x+6=0
(x+6) (x+2)=0 (x+3) (x+2)=0
X=—-6,x=-2 x=-3,x=-2
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@D 4x*+16x—48=0 3x*+9x—84=0
xX=—6,x=2 x=-7,x=4
4x*+16x—48=0 3x*+9x—84=0
*+4x—-12=0 ¥+3x—28=0
(x+6) (x=2)=0 (x+7)(x—4)=0
X=—-6,x=2 x=-7,x=4
® x*+x—-9=3 (x—4)*=1
x=—-4,x=3 x=3,x=b
xX*+x—9=3 (x—4)*=1
X*+x—12=0 xX*—8x+16=1
(x+4) (x-3) =0 x*—8x+15=0
x=—4,x=3 (x=3)(x—=5)=0
x=3,x=5
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